D0 FE

(= 1 /1200

fEsEOECE E 0 5 19 20 30 40 50

HRE PEI

ek

SHARY]  (hETH)

JnEkERE

2i1[2t0ial !

141 -

Il 1l

# !

Dk 0oL
@) mrazn
Brman

CH) sy -

@) BhHHERIEEE
T BELLB2L0

&% HEmah
2oL o TIEm=H
) Er. @mm
B aunEs
) w0 EETS
B8 mis i aBRinis ]
mE
@Dmﬁ1%
am
(\@ ot
L RS

gB @@

=) ([

b e 19}

TEE

£91-15

wE OaF
e B
R4’5?J
BREANER

D1 R4-542]

‘J

e )
#E 11853

RIS

@ re-883

(287 632

ST D 5T
1 PSR AE




t / 6 O D | WHFR] (HEH) (- ﬂl
AAPa ‘ & - s Spisads ¥ [ it BERE =
PHloFE TEE |9 3 o 15 2 oz o |B| BRE MFHR|Foir20ia) e || M@
I EL ] i A I
48 4% 1445 A0 30 2 7
[ \ I 1 T 1 ’—| 5,40
. 9,21 - ]
= | E ez | thiks e
(—M e 75| EErk) mee |E{E o A {0 (6)em )
o 8 o - x 2 4n ; L TYEE
,.F b %ﬁﬁ ® _/] '%h =ITEE [ Tam | “gl & 1% ’_[Ll (:\3)1 HEE
F[ up 3 v S} = [T [ B— |
' % b 7 fes % % Bk f%g}"‘% > | i
g s BBE 52 19 ] mAE gz |2 Rz 1 il .
g B g élﬁg - IRE 2 | s [ an —v s g [ g B lwxs i
' S i ! ] H 0
> 1 } | ] |- TR s .l "
450 2‘? ‘ 22L 18,00 .00 - a.00 ) —— i WHHE | 21,68 J
| ee Jawl aw S 5.0 I | @ I YRIHTRE
0,28 0.03 0 — -
— ! @] [
( — I | a0 0,00
@ (i) @ l :T 2.00 16,69
; \ A 23R
I — e
: | HASFO G IR SRAE =
1 B8 g FRE i_ E > i7’//?71:[ =] i ot 2| wam & =
= = - [ ke
0,00 a2 10,00
. 8 | | — i 0.4 T sm [ am [3m] fj
9 =
'Y 917 mwrmw EE! ~ (0 N
= EEEE] AlBEE 5% B Eas
il === oyt A ) =
= ﬁj i
o e
7 Lup o [T 7 3 T 5 5 & o ;_l -
g FanE i HEHE wayE gaE Fan= HaNE TONE = - % il
— — BT
5 a0~ g 0
: \’ Lo L ;
\ S (Y .0 | aw 0,00 0.0 1] AU ] 2 FOHE (ZBEHE) sz
0% 0,03 Lz ~ 2 S
8 RN -
) g e 5 : 5% } 800 l 2,00 |® L&
= d 45 4 I Al
® O ol ¢ L
L
i
4 e 13.60 | DR
O B K @
' s C———— H (¢ @ [e»
= EHE =
2 . F 3
- s | BEHE 65
aw | W 7 ERMNEE 163

DAl I - -]




